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ple choice)

A -T7<4<0<7
B.4<-7<0<7
CO<-7<-4<?
D.0<4<-7<7

2. Which of the following fractions is closest to 07
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3. When 5$0.000315$ is multiplied by $7,928,5645 the product is closest to which of the following?

A. 210 B.240 C.2100 D. 2400  E.24000

4. A student draws the net below to show the dimensions of a container that is shaped like a right
rectangular prism.

k 5in. {

is the surface area, in square

B 30 C38

at percentage of her or

6. The top part of this hat i

=

Which measure is closest to the length of the band that goes around the outside of the hat?

A 10.1 inches B 11.0 inches C22.0inches D 38.5 inches

7. Malcolm wants to visit Isabella after school today and knows the street where she lives but
doesn't know her house number. She tells him, "My house number has two digits, and exactly three
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of the following four statements about it are true."

(1) itis prime.

(2) Itis even.

(3) It is divisible by 7.

(4) One of its digits is 9.

This information allows Malcolm to determin 1se number. What is its units digit?

10. Suppose that a
11. Shauna takes five tests, each worth . Her scores on the first three tests
are 76, 94, and 87. In order to average 81 for all five te
on one of the other two tests?

sts, what is the lowest score she could earn

12. The algebraic expression 6x? + 9x + 3 represents the area of a rectangle. What is the area of
the rectangle when x = 3 feet?

13, Sara is buying items at a store. Her total comes to $45. She uses all of the money that is still on
a gift card to pay for part of the total. She pays the remaining $36 with cash. Which percentage
best describes the part of the total that Sara paid for with the gift card?
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14. Buses from two different bus routes each stop at the same corner at 9 A.M. Buses from one
route stop at that corner every 9 minutes. Buses from the other route stop there every 12 minutes.
What is the fewest number of minutes that will pass until the next time buses from both routes
are at that corner at the same time?

15. The least common multiple of a and b is 12, and the least common multiple of b and ¢ is 15.

What is the least possible value of the least common multiple of a and c?

17. (5 marks) An art teacher has a total of 7/8 pound of clay. The teacher puts 1/16 pound of clay
at each work station. The teacher sets up an equal number of work stations in each of 2 classrooms.
How many work stations does the teacher set up in each of the classrooms?



&
i HOUE LA W bR 5

Show your work.

18. (6 marks) Tom wants to order tickets online so that he and three of his friends can go together
to a water park. The cost of the tickets is $16.00 per person. There is also a $2.50 one-time service
fee for ordering tickets online. Write an expression in terms of n that represents the cost of
ordering n tickets online.

Expression:

Use your expression to find the total cost for ord

Show vork

19. (5 ) The faces of a cube are painted different col en(G),
brown( ua(A), and le(P). Three views cube are show y 5 lor of
the fac osite the ag ?
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20. (6 marks) Kyle has a pile of cube-shaped blocks that measure 1 inch on each side.
A. He arranged some of the blocks to create the figure shown.
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Using an exponent greater than 1, write an expression whose value is equal to the number
of blocks Kyle used to create the figure shown above.(3marks)

21. (10marks) The Romans used these capital letters:
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I \Y% X L C D M

1 5 10 50 100 500 1000

These letters put together to form all the numbers, like this:

I=1 Il=2 M=3 V=4 V=5
VI=6  VI=7 VII=8 IX=9

There are two rules you need to know:
a) Puta letter after a larger one me

22. (10 marks) Carl has 200 coins in a jar. Nickels make up 10% of the coins in the jar, and pennies
make up 60% of the coins in the jar. All the coins in the jar are pennies, nickels, or dimes.

7
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A. Inside each circle below, write 5¢ for nickel, 1¢ for penny, or 10¢ for dime so that the
percentages of the pennies, nickels, and dimes match the percentages of pennies, nickels,
and dimes in Carl's entire jar.(3marks)
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